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Annual Examination, 2022

B.Sc. Part I

_)
The expression for flux of a vector field A is:

(@) Hzxza (b) J-J‘ng
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Note : Section ‘A’ is Objective type and is compulsory. It (a) V (b) 2V

should be written on the first page of Answer- (c) 3V (d) zero

- o -
book. Section ‘B’ is Short answer type and Section (iii) ThHHM ﬁ’lﬂ_v’ g5 E | fg% C‘HTSLUT P& ﬁ&'ﬂa
‘C’ is Long answer type. T T Il ol 86—
‘a1’ 3 ‘A’ - - - -
Qug ‘A’ (Section ‘A’) (31) P.E (d) PxE
TG T (®) ¥ (3) &
3 . 3 %
(Multiple Choice Questions) An electron dipole of dipole moment P in a
Hal IW Ffu— 1x10=10 =

uniform electric field E expresses a force
Choose the correct answer :

() Ford afew 89 A 9 ToEE 1 6 v

equal to :
- > - o
(@) P.E (b) PxE

Axd Ada
A . _
() _g xda (&) _g a PTO. 1-26/22 (c) Zero (d) Infinite
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(iv) ﬁgﬂ@ﬂgamﬁwvﬁamw@m%— 1 )2
© \/R2+(w—mj

(3) E=-vV (3) E=v.V
(d) «/L2+032
(vi) Torelt Trem e A faed 49 E 8 vt w

1 he relationship between the electric field 30 o fRd) T QWWW 5 B —
E and potential difference V is :

- - -
() E=V XV (%) E=V.dr

e e e
(3:[) ELocal = E + P

- - - o
(@ E=-VV (b) E=V.V N
— - P
- - - () Efpeat = E +—
(¢ E=VxV (d) E=Vv.dr 3¢
. - -
(v LCR ufikge # wfqensn 2t &— (F) Epyy = P
%
1) N 5
(3:[) \/Rz + ((DL - _) (f\r) ELocal =5
(DC 280
(&) oL 1 When a dielictric medium is kept in a
oC electric field E , the local electric field at a
() \/RZ . (m _ sz point inside it is :
LC (@) - - o
a) E =E+P
(E{) (L2 + 032 Local
%
The impedance of LCR circuit is : (b) EL A= E + P
0C 380
1 \2
(a) \/Rz + (mL - —j N N
oC (c) Erocal = P
1
b) oL - —
b) o oC =2

P
(d) ELocal = E
1-26/22 P.T.O. 1-26/22 0
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T U i & 3cq— ardl 6—

(31) €Y yREmE IR |

(9) Tt U H 4R Yafed i § 39 g W
(¥) g 9 H 9N Yalfed hid 9 TR A T
(%) ufifetent # &R yafed i | 386 HiaX

A uniform magnetic field is produced :

(@) By a straight current carrying wire

(b) At the centre of a circular loop when

current flows in it

(c) At the axis of circular loop when current

flows in it

(d) Inside a solenoidalal when current flows

in it

- - -
(vii) V x B =, J Heamd g—

I-26/22

(31) TR 1 =g I
(&) dE-Tee &1 9|
(9) Trar® =1 fam
() AR &t <l o

-> - -
VxB=pyd is called :

(@) Ampere’s circuital law
(b) Biot-Savart’s law

P.T.O.

(ix)

(x)

I-26/22
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(¢) Kirchhaffs law
(d) Lorentz force
forera grerenta a8 | ol yare i foum et §—
(1) E # e
() B * fewn &
(®) E 91 B <H #1 faen & owaq
(%) E @1 B 2 & gt e #

The direction of energy flow in an

electromagnetic wave is :

(a) in the direction of E

(b) in the direction of g

(c) in the direction perpendicular to both
E and _B>

_)
(d) in the direction inclined to both E and
%

B

fered graeTa T § Sre A foed & B e
TAF 85 B B ST # T S i

() E=B

() B=potop E (T) E=4/ueey B

(a) B = MosoE
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In an electromagnetic wave, the amplitude AYAT / Or

%
of oscillating electric field E and magnetic forera foya 1 TmmEy |

%
field B are related as : Explain electric dipole.

(@E=B (b) B = pogoE 3. WY & YAl I THTE |
(©) B=+/nogo E  (d) E =Jue, B Explain polarization of dielectric.
o, HAYdr / Or
Qug o (Section ‘B’)
foreit forga aftuy § L, R 991 C & SFeRR i A&
g FIT qIT 5x3=15 FifeT |
(Short Answer Type Questions) Explain behaviour of L, Rand C in any electrical
qe—  qefi e wea aAfemd ¥ clreuit.

4. oo wfew M ot TwEET

Note : All the five questions are compulsory. N
Explain displacement vector M completely.

1. Fcl q91 SHESIE i SAMHAE SREAT hifIT |

AYATl / Or
Explain geometrical interpretation of Curl and
Divergence of a vector. Sifere B it sATE hifey |
3194l / Or Explain Hysteresis loss.

5. WS & 8 &l =Are sifse |

Explain Faraday’s law.

Sefaa dem e gHg § 3R fafeu |

Write differences between Thevenin’'’s and

Nortan’s theorem. AT / Or

2. TH YHT hi ARSAT iU | fag wifeu— div B =0

Explain Gauss’s theorem. -
Prove that : divB=0

I-26/22 P.T.O. I-26/22
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wWug ‘9’ (Section ‘C’)
g I uvT 5x5=25
(Long Answer Type Questions)
qre— Tt ure v Afard ¥
Note : All the five questions are compulsory.
1. fordlt Gfcer &5 & el ol GRS 3Eeh! ST
Icq hifI |
Define and derive the expression for Curl of a
vector field.
HIAT / Or
HLARIIV YHY hl AT & 919 fag Fifeg |
State and prove super position theorem.
2. TG 1 gAY TG whifse |
Prove Gauss’s theorem.
HYdT / Or
a1 1 fogr fefey qon Tieita genfis st e
1 sTeh Fcd hIfaTU |
Write principle of capacitor. Derive expression
for capacity of spherical capaciter.
3. WEYd & H&H W qo1 LR [0 R 77
SFATSEIH HIGIET 1 Tl €Y hifSIT |
What is microscopic and macroscopic properties
of Dielectric ? Derive Claussius Mossatti relation.
I-26/22 P.T.O.
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HYdT / Or
fordt CR g & i o a9 &l e shifsy |

Explain charging of capacitor in any CR circuit.

B.M Ao H 1 uRefia & =98 gy ot

.afrﬁvm

> > -
Define B, M and H and derive relation between

them.
HYdT / Or
YRTATE! He =TeTeh o RN JraIhF & i ol T
ALy
Find the intensity of magnetic field due to a

straight current carrying conductor.

. Tag =ifse—

- - 3
CurlH=J+6—D
ot

Show that :

- - 3
CurlH=J+6—D
ot

HAYAT / Or
frafq # faga Jraehia T8 T=01 Sl THeEy |
Explain electro-magnetic wave propogation in

vaccuInl.
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